a(6 @) (rad)

i
<
N

aoa, ) (cm)

Ratio

(RN
<

a(d cot(B))
S

1072

1073

+
+

1
+
;

L

-1 2 3 a1
10 1 TP1}:9T (PCA t%obeamliné[f) 10

2 3
TP1|c9T (PCA t%obeamliné[f)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

1::

z

o(d d.) (cm)

107}

1072

1078

10

Nl

3 £
s # """""""" Y
o a1
107 ! TPl[g)T (PCA f%)otz)eamlin%93 107

1.2

1.

iy

0.9

0.8 *
101 1

2 3
1 TPl[g)T (PCA f%)obeamlinéf)



	Contents
	Page 1


